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m) (knf)
I W & 230 467 4,288.5 27, 020
H #x 79 157 1,003. 4 5, 886
Zel F 45 108 978.5 4,929
= Ik 30 69 346. 3 1,027
(5 Bl &) (1) (1) (1.8) (4.0)
Ak H 21 51 451.3 1, 457
] i 17 59 269. 8 739
& B 36 162 1,391.1 3, 379
®K I 17 28 190. 7 696
15 A 0 0 0.0 0
B s 0 0 0.0 0
i ES 0 0 0.0 0
I 1E 60 137 1,086.7 3,910
(5 B F %) (1) (1) (3.1) (9.0)
o = 10 15 95. 2 120
Mo & 23 79 511.8 1, 220
(55 B k) (1) (4) (12.6) (35.0)
S % 143 400 1,571.3 3,721
1 F 3 9 20. 2 114
& g 0 0 0.0 0
=] K] 30 102 478.3 1,123
f )1 59 166 897. 2 2,524
53 B 0 0 0.0 0
g fi] 83 266 1,223.6 2,830
(5 & &b i) (2) (2) (3.5) (12. 6)
(5 B ki) (2) (5) (16.7) (26. 1)
% P 54 148 717.3 2,313
(9 b4 BN (3) (8) (41.8) (113.0)
= i 73 192 789. 3 1,772
& Jf: 22 41 252. 8 836
i B 0 0 0.0 0
= Al 36 89 409. 1 879
x 3 17 40 194.6 539
(92 b H W) (1) (3) (4.8) (8.0)
I JeE 92 358 1,721.2 3, 756
(5 b A M) (1) (2) (2.8) (2.0)
%= B 0 0 0.0 0
I ] 85 317 1,422.0 3, 057
5 B 42 114 400. 3 744
5 R 71 145 659. 6 1,531
fif] ] 22 64 269. 7 783
)i B 47 137 631.2 1, 550
iE] 5] 106 434 2,211.7 4, 845
7l W= 39 129 439. 9 782
7 )] 79 275 1,007.5 1,422
= % 182 412 1,247.6 2,071
5 s 97 271 1,244. 1 2, 490
& fif] 52 149 876. 0 1,833
1z B 60 174 509. 3 715
& Wiy 210 341 1,026. 1 2,225
fig 7N 81 148 627.0 1,535
(5> LREARM) (1) (3) (3.8) (6.7)
x o7 93 211 988. 7 1,902
= Wiy 53 239 1,285.1 3,616
BRSO 160 310 1, 780. 4 4, 682
i i 51 75 357. 8 912
& B 2,710 7,088 35, 872. 2 107, 485




